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FOREWORD

The Zanzibar Examinations Council has prepared the Item Response Analysis Report
for the 2023 Form Three Entrance Examination in Physics Subject. The purpose of this
report is to provide feedback to students, teachers, parents, policy makers, curriculum
developers and other educational stakeholders about the performance of the candidates
in this subject.

The Form Three Entrance Examination is the evaluation which intends to measure
to what extent the candidates have learnt in their two years of Ordinary Secondary
Education. Through examination results, the candidates receive a grade that indicates
their level of performance which helps to make decisions whether they may continue
to another level of education or not.

The analysis presented in this report is intended to contribute towards the understanding
of possible reasons behind the candidates’ responses in Physics subject. The report
shows some of the reasons that made the candidates whether to perform good or bad. The
possible factors that lead the candidates get good performance include understanding
and identifying the demand of the questions, ability to follow instructions on the
question given and high knowledge in applying an appropriate formula.

The factors that may indication the candidates to performpoorly like, failure to identify
the requirement of the question by providing the irrelevant responses and lack of
numeral skills in applying an appropriate formula.

The detailed analysis displays that, samples from the candidates’ scripts to show poor
and good responses has been inserted. Finally, various Tables with three different
colours which reveals how individual question was performed have been attached.

Hence, the feedback and recommendations provided in this report will enable various
stakeholders to take appropriate measures to enhance the performance of the future
candidates in Physics subject through the National Examinations prepared in Zanzibar.

Finally, Zanzibar Examinations Council would like to express sincere appreciation to
the Examination officers and all who participated in the completion of this report.

Dr. RASHID A. MUKKI

DIRECTOR
ZANZIBAR EXAMINATIONS COUNCIL

ZANZIB AR
vV




1.0 INTRODUCTION

This report on Physics items response is based on the analysis of the performance of
the candidates who sat for the Form Three Entrance Examination in 2023. The analysis
of this report is based on the 2010 Physics Syllabus of Tanzania and adhered to 2015
Zanzibar Form Two Examination Format of Zanzibar Examinations Council.

The Form Three Entrance Examination in Physics had eleven questions distributed in
three Sections A, B and C where Sections Aand B are compulsory. Section A consisted
of three questions which were multiple choices, matching items and filling the blanks.

Each question carried 10 marks. Section B comprised of five questions whereby each
question carries a total of 10 marks. Section C consisted of three questions whereby
question 9 was a compulsory and candidates were supposed to attempt either 9a or
9b and any other one question to make up total number of two questions. Hence, the
candidates were required to attempt a total of ten questions.

2.0 SAMPLED CANDIDATES

The numbers of candidates scripts who have beenanalyzed were 3,936 (16.69%0) of all
candidates (23,584) who sat for this paper. In this analysis, the candidates’ scores for
each question are interpreted as follows: from 00 to 29 percent is considered as poor,
average the scores range from 30 to 64 percent and good the candidates’ score from 65
to 100 percent.

Performance are shown by using different coloured tables. The colour presented are
green colour means good performance, yellow colour means average performance and
red colour means poor performance.

3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER QUESTION

This section identifies the questions set for candidates in sections A, B and C. Also it
identifies the percentage of candidates who attempted the questions with those who got
poor, average and good performance. Finally, the extracts of poor and good responses
have been inserted.

3.1 SECTION A: OBJECTIVE QUESTIONS

This section comprises three types of questions from different topics which include
Force, Measurements, Newton’s laws of motion, Energy, Pressure, Introduction to
laboratory practice, Structure and properties of matter, Simple machine, Magnetism,
Current electricity, Archimede’s principles and law of floatation, Motion on a straight
line, Light, Static electricity and Temperature.

The candidates were required to answer all three types of questions where by each
question carried 10 marks thus, making a total of 30 marks. The analysis of each




question in this section is categorised in three level of performance which are good
(6.5 to 10), average (3 to 6) and poor (0 to 2.5).

3.1.1 Question 1: Multiple Choice Items

This question consisted of 10 multiple choice items derived from 10 topics; Force,
Measurements, Newton’s laws of motion, Energy, Pressure, Introduction to laboratory
practice, Structure and properties of matter, Simple machine, Magnetism and Current
electricity. The following is the number of items used in this question.

Item i.

The candidates were required to identify the push or pull of abody. The candidate were
supposed to choose among the following alternatives, A Displacement, B Energy, C
Force and D Velocity.

Item ii.

This item required the candidates to point out the instrument used to measure the
diameter of a thin object. The distracters were A Beam balance, B Metre rule, C
Measuring cylinder and D Micrometer screw gauge.

Item iii.

The candidates were required to identify the Newton’s 3" law of motion. In this item
the alternatives were A Action is greater than reaction, B Action and reaction are equal
and opposite, C Action and reaction are equal and parallel and D Reaction is less than
action.

Item iv.

In this item the candidates were required to identify the phenomenon which is not the
form of energy. The distracters were as follow; A Heat, B Light, C Sound and D Weight.

Iltemv.

The item wanted the candidates to identify the reason of making the dam’s wall to
be thicker at the bottom than at the top. The reasons were presented in the following
alternatives, AAccommodate more water, B Accommodate less water, C Counterbalance
the pressure and D Reduce energy generation.

Item vi.

This item required the candidates to select materials that used in a class A fire. The
alternatives were as follow, A Kerosene and wood, B Magnesium and sodium, C Petrol
and kerosene and D Wood and paper.




Item vii.

This item required the candidates to identify the phenomenon taking place when
kerosene rises up a wick. The options were as follow, A Capillarity, B Cohesion, C
Osmosis and Surface tension.

Item viii.

The item required the candidates to identify the spanner to loosen a nutona bolt. The
candidate required to select the following alternatives, A Longer stem, B Shorter stem,
C Heavier stem and D Weaker stem.

Item ix.

The candidates were required to understand the occurrence of attraction force between
two magnets. The options were as follows, A Neutral points meet together, B North
pole meets with South Pole, North Pole meets with North Pole and South Pole meets
with South Pole.

ltem X.

In the item, the candidate was required to understand the difference between closed and
open circuit. The alternatives were as under.

- _o-
=

+

C. D.




Generally, this question was attempted by 3,932 (99.90%) and 4 (0.1%) did not attempt
it. The statistical analysis of the general performance of candidates was presented in
the Table 1a.

Table 1a: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
1,932 49.14

The above Table shows that percentage performance is average that leads to overall
performance of 86.95 percent.

513 candidates (13.04%) have poor performance. This is due to the inadequate and
lack of understanding the topics tested as shown in extract 1.1

Extract 1.1 Poor Extract

Answers

Kl i i ‘ iv VJ vi vii viii ix X |
Lol alale  wlplclnln]c

Extract 1.1 shows example of script of candidate who performed poorly by providing
wrong responses and wrote the wrong letters, even though managed to get the last item.

For those candidates who scored better by getting 37.82 percent is due to the fact that
they had an ability and adequate knowledge on all items correctly as shown in Extract
1.2.

Extract 1.2 Good Extract

Answers

|‘i i il " vio [ ovii il | ix X ||
‘clplmlplcl O[A AlB | c

Extract 1.2 shows the response of good score of the candidate that had an ability to
understand and manipulate the calculation on the topics tested.




3.1.2 Question 2: Matching items

This question demanded the candidates to match 10 items (i - X) in list A with the
correct responses in list B by writing the letter of the correct response against the item
number. List A consisted of 10 premises and list B consisted of 12 descriptions. The
items are derived from the topic of Archimedes Principle and law of floatation.

The following analysis shows the strength and weakness of the candidate’s performance
in each item.

The item i.

The candidate was required to match the statement, ‘A substance that has no fixed
shape and yield easily to external pressure’, with correct description from list B.

The item ii.

The candidate was required to match the statement, ‘Measure weight of a body’ with
correct description from list B.

The item iii.
The item required the candidate to match the statement, ‘Ratio of density of object to
the density of water’ with correct description from list B.

The item iv.

The candidate was required to match the statement, ‘Shows maximum depth of the
ship that should be under water” with correct description from list B.

The item v.

The candidate was required to match the statement, ‘Tendency of an object to fall or
drop to lower levels in a fluid” with correct description from list B.

The item vi

This required the candidate to match the statement, ‘Tendency of an object to be
suspended on the fluid surface’ with correct description from list B.

The item vii.

The item required the candidate to match the statement, ‘The force that enables the
object to float” with correct description from list B.




The item viii.
The candidate was required to match the statement, ‘Used for measuring the relative
density’ with correct description from list B.

The item ix.

The item required candidate to match the statement, ‘Weight of a solid when in fluid’
with correct description from list B.

The item x.

It required the candidate to match the statement, “Weight of a body in air’ with correct
description from list B.

The answers for the matching item question are:

i) lis Fluid (i) G is Spring balance (i) Ais Relative density
(iv) Kis Plimsol line (v) His Sinking (vi) Jis Floatation
(vii) B is Upthrust (viii) L is Hydrometer (i) D is Apparent weight

(x) F is Real weight.

Generally, those items required to measure skills of remembering and understanding
on topic of Archimedes Principle and law of floatation.

This question was attempted by 3,911(99.36%) of the candidates while 25 (0.64%b) did
not attempt it. The analyses of candidates’ performance are shown in table 1b below.

Table 1b: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES OVERAL
AVERAGE PERFOMANCE
3-6
TOTAL % TOTAL %
708 1811 1,488 38.05

The analysis in the above table shows that a high percentage performance is 61.95
percent which are poor that leads to overall performance of 38.05 percent to be average.

Also, 2,423 (61.95%) have performed poorly. This is due to the lacking of understanding
and practicing of the topics tested as shown in extract 2.1.




Extract 2.1 Poor Extract
Answer

i ii iii iv v Vi Vi viii X X

IC-Q‘Q\\YQ§JA\€

Extract 2.1 shows example ofscript of candidate who responded poorly because of lack
of knowledge and poor understanding of the options selected, thus led to give wrong
answers.

For those candidates who showed good performance had adequate knowledge on the
topic of Archimedes Principle and law of floatation and this will be justified through
the script of the candidate who did well. Extract 2.2 shows a sample of good response
from the candidate.

Extract 2.2 Good Extract

Answer

i[n y irii iv v vi vii vill ix X
e A | iyl ileEs.

Extract 2.2 shows the response of good score due to the fact that the candidate had an
ability to remember, understand and had adequate knowledge on choosing all items
correctly as required.

3.1.3 Question 3: Filling the blank question

This question consisted of 10 items whereby the candidates were required to fill the
blanks that were given. The items were derived from 10 topics including “Pressure,
magnetism, Motion on a straight line, Light, Current electricity, Static electricity,
Temperature, Energy, Introduction to laboratory practice and Simple machine”.

The analysis below indicates the strengthand weakness of the candidates’ performance
in each item.

Itemi.

The candidates were required to fill only one gap in this item. The item was “The force
acting normally per unit area is called ”. The candidates were
required to recall the definition of pressure.




Itemii.

The item was written as “The angle between true north and compass needle direction is
”’. The candidates were needed to recall the definition of
angle of declination in the topic of magnet.

Item iii.

The item was “The rate at which a distance covered in a specific direction is known as
”. The candidates required to understand the

concept of velocity.
Item iv.

This item tested the candidates about the force. The item was written as ‘“The objects
that emit their own light are referred as ”
. The candidates were tested to recall the concept of light in the part of luminous and
non-luminous object.

ltem v.

The item was written as “The instrument which is used to measure very small amount
of current is called ”. The examinee required to
understand the application of Ammeter in the current electricity.

Item vi.

This item was required to test the candidates on the bodies used to test negative charge
in the static electricity. The item was “When ebonite rod rubbed with it
acquires negative charge.

Item vii.

The candidates were tested on the concept of conversion of given Temperature from
one unit to another. The item was written as “0°C is equivalent to
Kelvin”. The candidates were required to apply the knowledge of conversion of unit
from Centigrade to Kelvin

Item viii.
This item tested the candidates onthe transformationof energy. The item was writtenas
“A device used to convert solar energy into electrical energy is known as 7

The examinee was needed to remember and understand how energy can be transformed
from one form to another.




Item ix.

The item required to test the candidates on the definition of first aid kit. The item was
written as “A box containing items that are used to give help a sick or injured person
is called . The examinee was assessed his/her understanding on the
scientific terms used in the laboratory box.

Item Xx.

The candidates were required to recall the formula for finding velocity ratio ofa screw
jack. The item was written as “Mathematically Is the formula used to
calculate velocity ratio of the screw jack”. The candidates were required to remember
the formula used in simple machine.

This question was attempted by 3,800 (96.54%) of the candidates however, 136
candidates (3.46%) did not attempt this question. The analyses of candidates’
performance are shown in table 1c below.

Table 1c: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
639 16.82

The analysis in the above table showed that the high performance of 74.76 percent is
poor that leads to overall performance of 25.24 percent to be poor.

Also, 2,841 candidates (74.76%) have performed poorly. This is due to the lacking of
understanding of the topics examined as shown in extract 3.1.

Extract 3.1 Poor Extract

3 Fill the correct answer in the blank spaces provided.
i The force acting normally per unit area is called Magg

il. T?e asgle be(weer\;me north and compass needle direction is
(4]‘.& (Lr(_M o

iii. The\r‘a;teat ich a distance covered in a specific direction is known as
Ceon oneke  (Cm)




vil.
viil.

Theog“ that emit their own light are referred as
,(‘l‘ ~

\\entwhich is used to measure very small amount of current Is
\

called e} e
When ebonite rod rubbed with g_:& ‘:wg it acquires negative charges.
0°C is equivatent to __Smo)) _aneunl, Kelvin.

ice used to convert solar energy into electrical energy is known as

Aolar  fpprag
A

A box containing ttemgs tha;:ge uﬁto give help to a sick or mjured
person is called _ ik

Mathematically JxoniiL(__ is the formula used to calculate velocity

ratio of the screw jack.

Extract 3.1 Consists of a sample from the script of a candidate who provides wrong
answers. Such responses indicate that the candidate did not understand demand of the
question and had limited knowledge on the topics tested as he/she copied some words
that are found in the third question.

Generally, few candidates who scored full marks were able to fill the correct words in
the gaps provided. This is because he/she understands the requirements of the question
as seen in extract 3.2.

10



Good extract. 3.2

3. Fill the correct answer in the blank spaces provided.

vi.

vii,

viii.

Extract 3.2 shows a sample of responses from the script of candidate who had good
performance. This examinee managed well to fill the phrases required in the question.
This implies that the candidate had adequate knowledge, remember and understand the

The force acting normally per unit area is called Prcgs wre

The angle between true north and compass needle direction is

The rate at which a distance covered in a specific direction is known as

\Jducii,{j

The objects that emit their own light are referred as
botamenocs  body

The instrument which is used to measure very small amount of current is
called Ammeter

When ebonite rod rubbed with FW’ it acquires negative charges.
0°C is equivalent to 212K Kelvin.

A device used to convert solar energy into electrical energy is known as

§O{Q,r Imnd,
A box containing items that are used to give help to a sick or injured
person is called J;’ert ad kb

Mathematically __ 2TR/P is the formula used to calculate velocity

ratio of the screw jack.

demand of question.

3.2 SECTION B: SHORT ANSWER QUESTIONS

This section consists of five (5) compulsory questions. Each question carried a total of
ten (10) marks making a total of fifty (50) marks. The performance ranges used in the
analysis of questions in this section starts with those candidates who scored 0 to 2.5
marks which is considered as poor, from 3 to 6.0 marks which is average and from 6.5

marks to 10 marks which is considered as good performance.

11



3.2.1 Question 4: Measurements
This question was divided into three parts a, b and c.

The analysis below indicates the strengthand weakness of the candidates’ performance
in each item.

Question 4(a), required the candidates to define the terms ‘error’ and ‘mistake’.
Candidates who define these two terms had a clear knowledge about the terms used in
measurement.

Question 4 (b), required the candidates to mention three reasons that causes errors to
rise and distinguish between zero error and instrumental error. The candidates who
managed to remember those reasons and the difference between both types of errors
had a wide knowledge about errors.

Question4 (c), requires the candidates to apply formula of finding perimeter ofa given
body. The candidates who managed to apply the correct formula for finding perimeter
had adequate knowledge on the topic tested.

This question was attempted by 3,531 (89.71%) and 405 (10.29%) did not attempt this
question. The analyses of candidates’ performance are shown in table 2a below.

Table 2a: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
295 8.35

The analysis in the above table showed that a high performance 0f86.89 percent is poor
that leads to overall performance of 13.11 percent to be also poor.

Also, 3,068 (86.89%0) have performed poorly. This is due to the lack of understanding
of the topics tested as shown in extract 4.1.

12



Extract 4.1 Poor Extract
Define the following terms as used on measurement.

4, a.
i Error <
s 4l bex Cc,'qu(z\ﬂ\vg den, dhad e
L Sesle o Sn'o\' elecicn| encly
% i e 4l e ke af i dectenop
Cor (el /.n a Jdpecerec dirteteine
b. i Errors usually arise due to several reasons. Mention three (3) of

them.

DEn"o—rS e e 4o gﬁuera( 'm.('f‘:lumﬁn‘l

D _ETSks inceeale  Shen e oneal it

3) &g are ineneaend yced o mecitore menl
i Distinguish between zero error and instrumental error

[ Xy mend) CRere W Fourmen

Tnd'runwn'l‘ ..(‘L._ELLL 15 \lrrwar# uﬂ«(d/\ 1 £ U-J'f;’fl
L\A —\1: paeadure wiedtl . med Gue

c. Juma measured the length and width of his book and he found that the
length was 26cm and the width was 20cm. What was the perimeter of
Juma’s book in metre.

C«S‘ux(-usn
\)“;xi(m;—er = [engd o widHn
= 'ﬁ_éer\f\ A X Ol

= L com
j\.unalj\odk\nme‘rre: xrn-eﬁgr = _lgodm \

= \onele oxlybem o cxipeme—  ——Li6em
\Cu Caq Actan =0 Ybm 7

S Ve Jumas Lt n mebre = 0 -6 m

Extract 4.1 above is a sample from a script of the candidate who provided poor responses.
In part () he/she just copied some of sentences in the question paper then made his/her
answers, but in part (b) wrote some phrases he/she recalled from the subtopic oferror

and in part (c) used the formula which is incorrect.

13



Some of the candidates performed well as they were able to meet the demand of the
question and had adequate knowledge on the topic asked as seen in extract 4.2.

Extract 4.2 Good Extract

4, a. Define the following terms as used on measurement.
i Error

EH-OI" )f Cy DLP’MUN Leen. He,
v
brere rﬂadnn.o} ‘

il Mistake
e bake le a sulstou e Haor ¢

oLeatr  hen o peslQin oLbuAG Lenap

u‘u}u} u‘mm-f.

b. i. Errors usually arise due to several reasons. Mention three (3) of
them.

\L)_.Dz.muql dunlnej Lige -

R
(1) Humnw ;u‘ubr)r- :

. Distinguish between zero error and instrumental error

Zie eror It o byper vy emoe ook ot
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C. Juma measured the length and width of his book and he found that th
length was 26cm and the width was 20cm. What was the perimeter of
Juma’s book in metre.

Gwezmluqma.w Kom | New 1m = 106 um
o Wkt s e % = Gaew

gie s Pervnotr tP) = Pl kXiwun = !Im X 92um

(ol roon. " 10t 50 em
P = oL +w) e & B.9g
> 2 (aeem + Juom)
T batm + 40um X ptrtméer er Jinao, bey
p : 90 h;_%_w_ : 0: 92m

—

Extract 4.2 shows the sample from the script of the candidate who provided good
answers. The responses indicate that the candidate was knowledgeable and had the
skills of applying the correct formula for finding perimeter.

3. 2. 2 Question 5: Light
This question was divided into three parts a, b and c.

The analysis below indicates the strengthand weakness of the candidates’ performance
in each item.

Question 5(a), required the candidates to define the term ‘shadow’ and ‘regular
reflection’. Candidates who define both terms had a clear knowledge about the terms
used in light.

Question 5(b), required the candidates to mention three (3) characteristics of light. The
candidates who managed to remember and write those characteristics had a sufficient
knowledge about light.

Question 5(c), required the candidates to apply formula of finding number of images
formed between two plane mirrors. The candidates who managed to apply the correct
formula had adequate knowledge on the topic asked.

This question was attempted by 3,487 (88.59%) candidates while 449 (11.41%) did

not attempt this question. The analyses of candidates’ performance are shown in table
2b below.

15



Table 2b: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
421 12.07

The analysis in the above table showed that a high performance of 78.55 percent is poor
that leads to overall performance of 21.45 percent to be poor.

Also, 2,739 (78.55%) have performed poorly. This is due to the lack of understanding
the concept used in the topic as shown in extract 5.1.

Extract 5.1 Poor Extract
5 a.  Explain briefly the following terms as used in light.

i Shadow

) 7 " 1 ol X / /
Vo to: a Salsceflanon 1 GffexCo .f/q’/_,( s

\l /;/'7/{1/ Ccrad "Y((_l ’A? G l‘{/'(i‘JL /. (/'—” ofter C

il Reqular reflection

Q;;g'}'uku f&,CJT‘ (-"\r_'n kwﬂ _jl\j L« & el €thon

A

A |
wlyicl trm—( 'h.v{,v'ﬁ cuWn h(ii—,ib

b. Light is the form of energy which its characteristics differ from other forms
of energy. List down three (3) characteristics of light.

16



C. Calculate the number of images if two plane mirror placed at

i Perpendicular angle

B - C}{\L\.‘&f{r‘—l
ii. Angle 3607
& 'QLLAIF(CP

1 <o
b_ﬂci 1;‘( — \g‘\_—\—
¥ —3 =
v UNTryuicr = Sk

o — \ %_.;:

T —

Extract 5.1 shows a sample of a response of the candidate who scored poor marks. It
indicates that the candidate did not understand the requirement of the question instead

he/she wrote some of phrases used in question 2 above.

For those candidates who scored better by acquiring 9.38 percent succeeded due to the
fact that the candidates had an ability and adequate knowledge on defining, writing the

characteristics and applying the correct formula as required as shown in Extract 5.2

Extract 5.2 Good extract

5, a.  Explain briefly the following terms as used in light.
i, Shadow
2 Me ke 1—.-;/@'041, Jjﬂ/m{/ whres
L2l / c’rz'a// 22T c;;
//Jg 242 /Z or La/xf
7 ¥ 40 V4
ii. Regular reflection
(/ i Loptr o fist lection which Litd”
/A J
-“'-L—ﬁ;ﬂf / L L SLoreed //L ﬁ;//j(t[ﬂ'
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Light is the form of energy which its characteristics differ from other forms

b.
of energy. List down three (3) 3) characteristics of light.
) Y L#Gt 41;, vodt LA L feth zrrieil ",:2’(((/ Zxio Y
w) [ dinoiper entigy _ .
((4) l_{_ _U_K_Lyi o oo & / t({'A[ (erie
C. Calculate the number of images If two pi lane mirror placed at

[, Perpendicular angle

Llalown y
o L 36e — | [N = 3(,/-'[.; 455
(»— ot wrages __56 [4 | 3
" : & f %W ./
viignpdots & tn«u ¢/ IN = - J =,
i, Angle 360°
o | r
' e lesiOey  m Ry | "r\:’é«'_-t” I \S
/\Ugl;slﬁtr [ Wil 4 = L L [ r : : .
/ é" —;‘ f’ ,( « bes ”

Extract 5.2 shows the responses from the script ofa candidate who managed to define
the term shadow and regular reflection. He/she managed to write those features of light
and did well in manipulating the formula of finding number of images in plane mirrors.
The candidate able to obtain full marks due to the adequate knowledge of light they
have.

3.2.3 Question 6: Current electricity

This question had three parts a, b and c. in part (a) the candidates were required to
define (i) Newton and (ii) Fundamental force. In part (b), the candidates were required
to give property of some of the given fundamental forces. In part (c), the candidates
were required to calculate weight of the object given.

This question was attempted by 3,422 (86.94%) candidates while 514 (13.06%0) did
not attempt this question. The analyses of candidates’ performance are shown in table
2¢ below.

18



Table 2c: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE |
3-6
TOTAL %

197 5.76 ‘ ‘

The analysis in the above table showed that a high performance of 91.20 percent is poor
that leads to overall performance of 8.80 percent to be poor.

Also, 3,121 (91.20%) have performed poorly. This is due to the deficient understanding
of the topics examined as shown in extract 6.1.

Extract 6.1 Poor Extract

6. a. Define the following terms as used in force.
I Newton - :
R Pe I - / C
’fﬁf' \YC(C% (‘{: £ (:c{.’(n q % e &
'/ y J 7
AN fon  honce, .
~
Fundamental forces ~
A (6 Tule ? '-Z;‘r}lfl' ‘f’ friaening <
J 7 r ¥ ™ - Y2 ‘_ f{ L
e q- = on  (rm, ¥ 142
dlbly ¢ s poon from, Lol
.J : i@,;’ff flpo Tty /fcf“u n Wk
M‘-V’\“‘){‘ = paza. e —— i
b Mention one property of the following fundamental force
Electrgmagnetic force ;
‘( r? gnetic Torct - i ; . . _*,'_
Al folf ¢ WAL RU O Afbnlisty L
.~ £ 2 1 A o) = { = /
DJALQ_I Q/Z.T — —
Strong nuclear force ) 3
/ ) 4 £ ” ({ 2 (* -
IS e Lndng r fullfy (}' nE T
- - o I .
/,, r/,/ OF, ’JL thfp(j {']/{; G ¢ -
(L '_K_r' l
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Grawtat onal force

CTL\{\C f (ki ﬂnn} ey
f fEbl*w"\
/ v

iv. Wweak nuclear force

[_IP'L’_ f‘»u.f-.'“;d' & CMages Hafﬁ H“‘*‘_‘L "

A

Cadle i8S ¢ (Grokbeed ¢ gy’ Loy
T

ﬂ

[ &~ \
Grsn G0 .
|
C. If an object has a mass of 6000g, how much would it 'weigh/cn the earth?
Dttt by g mass = Mal & duppedy
Mt ' Wlugre: —
= Govog 4 , a
TR
He~
= (el g -

Extract 6.1 Consists of a sample from the script of the candidate who provided irrelevant
answers. Such responses indicate that the candidate did not understand demand of

question and had limited knowledge on the topics tested, instead, he/she wrote words
which are meaningless.

Few candidates who obtained higher marks were able to define the required terms and
mentioned the property of each fundamental force required and finally apply the right
formula for finding mass of object given as seen in extract 6.2.

Extract 6.2 Good Extract
6. a. Define the following terms as used in force.

i Newton

aniidf
'/ C /Aﬂ 1IAESS /4(/(9 //f/ rtg?/// JT e 2

pay ot _ome Likgam 7 Ly ol aweleaafiorn
dr A(fﬁé‘ //”/s”J
4

So, /N = Ikpx [ /c?
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ii. Fundamental forces

Are ferces that  are Lacre in
necfure and can nat Le ex p laned
by dhe achion of ancther ferce . Eap-

P/(’ E((—'( }'rm C‘tq,’)Gml-’c jl_nr( e.
T T

Mention one property of the following fundamental force.
i Electromagnetic force

(/' s ,[d!/((l// y attmaclive jcf ce d/a/

/
C/IF/"’? //&1/7 : /q/m//é%'oﬂq'/ 7/4/(9
ii.  Strong nuclear force

(f s H«o S‘“for\c!ed ’Fcr(@ Htal’l weak

nuclear  feorce -

iii. Gravitational force

: H '5 ’“lp wea[:erf ‘J,,orce amend
eg the ofher forces )

iv. Weak nuclear force

({ ¢ shong than qravibedi emal

1 1]
jorce. and is  wek e S //r?i(/ Jcler

fof ce.

If an object has a mass of 6000g, how much would it weigh on the earth?

<ud com. _
Mage s¢ an cbiect, m - ooy | from W= mg
- (ko W= €y wion]ly
6mwtw g= loN”cq, W= 6onN
Ne.aL} W Mdeiq Wt of an ob-
Lo pe— T B -“e ear“: EWCIN
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Extract 6.2 shows the sample of response from the script of the candidate who provided
good answers. The responses indicate that the candidate was knowledgeable indefining
terms given, listing the property of fundamental force and had the skills of applying the
correct formula for finding mass of object on the earth.

3.2.4 Question 7: Static electricity

This question had three parts, namely (a), (b) and (c). In part (a, i) the candidates were
required to state the fundamental law of static electricity and (ii) the examinee were
needed to list three methods of charging body. In part (b) the candidates were required
to define the gold leaf electroscope. In part (c) the candidates were required to draw a
well labeled diagram of gold leaf electroscope.

This question was attempted by 3,483 (88.49%) candidates and 453 (11.51%0) did not
attempt this question. The analyses of candidates’ performance are shown in table 2d
below.

Table 2d: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES OVERAL
AVERAGE PERFOMANCE
3-6
TOTAL % TOTAL %
671 19.26 1,419 40.74

The analysis in the above table showed a high percentage performance of59.26 percent
is poor that leads to overall performance of 40.74 percent to be average.

Also, 2,064 (59.26) have performed poorly. This is due to the insufficient knowledge
in understanding the concept and lack of drawing skills in the topics tested as shown
in extract 7.1.

Extract 7.1 Poor Extract

7. a. i State the fundamental law of static electricity.

/
\auw or dabic (’(e({t'i"(l‘(,\’ Slate ot \aw o ele
O-ﬂ‘(’(‘t—\; the Céttultor ‘i‘;‘iL!—Y((‘.IU{(J/_)(_(ﬁi Opdhe /@,';_L‘g ﬂuzu(,!l (2’1’"'*'4‘
ii. List down three (3) methods of charging a body. '

N7 T f
V }lé L‘ﬂ/‘;.\.. aeng Q Iﬁc_rc’ '{U '//V&[((u“/) j/’-\: (;/('C://L"('q_)

—

.P/‘f’({ia) '
A B /] | \ [ ; /
W 11 21X u:{;. T/‘(,’JT\H;’ULLQ O ey ter cuxe! ancnr VAN
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b. i, Define the gold - leaf electroscope.

‘ 7
CM. J - qI ?gf—«zfqpé aof S#)e INstyment ((ced
o Mec Syr S0 O Ganss 175 4he /}00((1
ii. Draw a well labeled diagram of the gold - leaf electroscope.

QM*{W i (Y

NRw 2. descﬁ?p
\ '\ J”?I 1=
,\ | - Clarging kbt

Extract 7.1 consists of a sample from a script of the candidate who provided incorrect
answers. The responses indicate that the candidate had lower ability of remembering
and understanding the required concept that was tested but he/she had some concept

about drawing circuit diagrams in electricity.

Generally, the candidates who scored full marks were able to provide correct responses
due to the high capacity of remembering, understanding and even drawing meaningful
diagram of gold leaf electroscope as observed in extract 7.2.

Extract 7.2. Good extract

7. a. i State the fundamental law of static electricity,

_LL\Lu-cABL LLtt\rngk_ J

ii., List down three (3) methods of charging a body.

\ L\.,\LV\— (,3‘ A~ (,L‘V\\”Q\ (6.9

o 1 K'\’\fo .v\,\ \;V\LL\LGJ\P
R e Il -
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Define the gold - leaf electroscope.
et A - \g

s slcrNox v glonce tod
e A k«/ \)\)"C e Sy -
: : 1 Cad Al
VAA ( ;f\md.*f\ Uyt ok
A)

ii. Draw a wel| labeled diagram of the gold - leaf electroscope

)
%mu byl (Qf,c
> LL\JL"(‘L&;\& VV\M/QU\W( .
. 9):’2«45 brodle
Carth vaetal-Tas
E\CM’-a»U;_(‘\_ﬂ
(—'\L’(gf liu%

breas platy

Extract 7.2 shows the candidate who managed to do well as the question demanded.
The candidate had knowledge of concept and skills on drawing and labeling all parts
required in the needed diagram.

3.2.5 Question 8: Newton’s laws of motion

This question had two parts, namely (a) and (b). Inpart (a) the candidates were required
to (i) define the term impulsive force (ii) mention three types of inertia. In part (b) the
candidates were required to calculate (i) the momentum change of the bullet (ii) the
velocity of recoil of the gun and (iif) momentum change of the gun.

This question was attempted by 3,390 (86.13%) candidates and 546 (13.87 %) did not
attempt this question. The analyses of candidates’ performance are shown in table 2e
below.
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Table 2e: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
686 20.23

The analysis in the above table showed that a high performance of 72.51 percent is
average that leads to overall performance of 27.49 percent to be poor.

Also, 2,458 (72.51%) performed poorly. This is due to the lack of understanding of the
topics tested as shown in extract 8.1.

Extract 8.1 Poor Extract

8. a. i. Define impulsive forces

’ P ]
_l(Y)'ptlei('\r(/ TOf tes, | 1—}/1( TorCes (5 o Ccr-;Lchk. 61,1; o
tecke el Fhnugly the uplhnict” bythe Sasce
ii. Mention three (3) types of inertia.

Nebwen  loaw o Maksn

I

' ]
‘\-f'{{\v\":n ’L"v:v' C lan ¢ V"YTL.PC:.","\

Nketven  Serond Lop o metcen

b. A bullet of mass 5g leaves a gun of mass 250g with a velocity of 50m/s.
Calculate the following i

i. Momentum change of the bullet.
Colukcon
Memeptimn = Som ’ S
Mass = S

-
J
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SEquUd = 2209

= Comls x€q x2s'cq

1] J J
- 95e ‘720@}’0’)

ii. The velocity of recoil of the gun.

Q’ k& O

{

1 = A
Ve ot (v )= ass

\/(/[L/ NE . ,

§q+ .ISOCI-L SeM /s
— »_m-,avﬂ”

iii. Momentum change of gun.

(-\(‘ ,‘\. u“’T?f‘.

In extract 8.1, the candidate provided incorrect responses to all parts of the question.
This is due to failure of understanding the concept of momentum and applying the

Mom.enderrm (m ) = IYizec —('19

formula of calculating momentum change and velocity of recoil of a gun.

The candidates who scored high marks were capable to give correct responses in all
parts of the questions. This shows that, they had an adequate knowledge on the topics

and which parts they were derived from as observed in extract 8.2.

Extract 8.2: Good extract

Define impulsive forces

/m[)u{Jd’C Tctft ) ‘f{u CE. C{C&an

och 01 sho ! interval @

~

{'l.mQ q

N

Mention three (3) types of inertia.
- {L\ fi(l:‘l a at f((i' :

= lunethar ak ondhmn

— luedia ok direct .
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b. A bullet of mass 5g leaves a gun of mass 250g with a velocity of 50m/s.
Calculate the following

i Momentum change of the bullet.

= myv
m 54 § — )
S8 Lé; 5& tn kj{ = O 005/\&¥
F = my

= 50milc X O ‘005 kg
Cr Plimewtbum (P) = (028 chg m /L.

ii. The velocity of recoil of the gun. "
R before - Pagec l._s5p = =~}
M +Thu = Mav + MY e

«+ Hente (gnog¢e
: A=t

DASKAN =0 e=pD:25 be ge
C-2¢ V =';()li o w h«_@,q?;n_r 3 g AC
O S 028 u b e — mﬁ’ Avuwer

iii. Momentum change of gun.
= my i
Muss o  250q o kg = 0.2S kg
fenle _p = mv Y -
P =0:25kq X [m]s
= 0 S kqgmly
L. Plomection (P) = 2SS kg mils.

e

Extract 8.2 shows a sample of good responses froma script of the candidate who scored
high marks. The candidate’s responses convey that, he/she had adequate knowledge on
various parts of the topic being measured from this question.

3.3SECTION C

This sectionconsists of three questions, where candidates were required to answer two
questions while question 9 is compulsory, candidates were required to answer either 9a
or 9b. Each question carried 10 marks.

3.3.1 Question 9a: Motion on a straight line

This question had one part (a) which consists of a table as seen in the extract below.
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Generally, this question was attempted by 1,154 (29.32%) candidates and 2782
(70.68%) did not attempt it. The statistical analysis of the general performance of
candidates was presented in the Table 3a.

Table 3a: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES OVERAL
AVERAGE PERFOMANCE
3-6
TOTAL % TOTAL %
243 21.06 454 39.34

The above table showed that a percentage performance of 60.66 is poor that leads to
overall performance of 39.34 percent to be average.

Also, 700 (60.66%) have poor performance. This is due to the inadequate skill of
drawing the graph on the graph paper on the topics tested as shown in extract 9a.1.

28



Extract 9a.1 Poor Extract

Plot the graph of velocity against time (On the graph paper)

Iﬂ\.‘..u—-‘
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ii. From the graph, calculate the slope (s).

(5 lition

Iy + 9% = & o
16 + 12 = 3%

20 + Q2 = u@

24 26 = 49

LF + 32 = 606

= @2 22¢

L2640 226 - 360 = 166
166 + 26 = 316
-2 Jhe gr8 P Jque 376 -
iii. What is the nature of the graph?

%e notuyv e Fhe arﬁpﬁ 74 aedaaﬁ/ qgac
n_time oAletermine Hie J720 400 oF ﬂ?&wrm
OA/ECf

iv. What is the physical meaning of the slope (s)?

e PAL/J‘/C;Z'Z /72602 120 ne o ¥ /a/:e i olabs (Dl
clod  (oher cleteymis ne  Imow ng c nel  metion
is flﬁpe £y _fhe P/w&ftd m@ﬁb obledt
leaues ' Jlatic  rmellod® ¥

In Extract 9a.1 the candidate provided incorrect responses to all parts of the question
due to failure to draw the graph and find the slope from the graph even though, he/she
had knowledge of drawing bar chart and had some skills of addition of numbers.

The candidates who did well had sufficient knowledge on the requirement of the
question. They succeeded to draw the graph and find the slope from the graph. Extract
9a.2 shows a sample of a candidates’ script who performed better.
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Extract 9a.2 Good Extract

I Pﬂthegmphnfvdaﬂrfmlrﬁtm[EMUEgmmﬂaﬂEﬂ
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iii.

iv.

From the graph, calculate the slope ().
S Lb%ﬂﬁ = VY ertual < da= Y 1
Hoecao b\,tcul (U2-U,

=1

2
= &mfi*

oo The dove = €mle?

What is the nature of the graph?

Nahoe of e C/mpL 1 Shougl. ot
srigin - or Alie Y W \’€/Ua7u dc{cmm
g?rbpﬁra'wnaﬂér 10 Fle JCLfTLQ

What is the physical meaning of the slope (s)?

Physicod meaning o The dlope
L( N LeQan e U &/‘@fﬁf&z@f\/jnf

The candidates who performed well in this question had sufficient knowledge of
converting given numbers to the drawing. They also used skill of drawing the graphon
the graph paper and finally used the content and numerical skills of graph to find the
slope and interpret the line to the nature of the slope and giving meaning of the slope.

3.3.2 Question 9b: Introduction to laboratory practice

In this question the candidates were required to write the name of the devices given,
draw the devices and give their uses.

This question was attempted by 2,956 (75.10%) candidates and 980 (24.90%0) did not
attempt this question. The analyses of candidates’ performance are shown in table 3b
below.
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Table 3b: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES

AVERAGE

3-6

TOTAL

%

899

30.41

The analysis in the above table showed that a high percentage performance of 51.39
percent is good that leads to overall performance of 81.80 percent to be good.

Also, 538 (18.20%) have performed poorly. This implies that the candidate lacked
understanding on the devices given as shown in extract 9b.1.

Extract 9b.1 Poor Extract

S. b. Compilete the table below by writing the missed names, dagrams and
uses of items found In first aid kit
[ Name 1 ~ Diagram Use
| 1. Thermometer ¥ - .
12 [heymp & used in
3 tenpered st
| <
p
-
W — = p— [
GIQS Jy Irsccv-n/ui§|
|
) — . I -
f . | Cutting dressing matenas 1
7"“"{?1‘.—‘4‘"{; I
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Gloycs 15 déed From
X peement

iv. Disposabile sterie

V. | Covering minor wound

I/)y Of?E¥~

—

In the extract 9b.1, the candidate failed to provide the correct response to all parts of
the question. The candidate failed due to deficient knowledge he/she had in drawing,
recalling the concept of devices used in this questionbut he/she had an idea ondrawing

some objects.

Generally, the candidates who scored full marks were able to provide correct responses
due to the high capacity of remembering, understanding and even applying his/her
knowledge drawing meaningful diagram of the devices given as seen in extract 9b.2.
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Extract 9b.2 Good Extract

9. L. Compicte the table below by wrtting the missed rames, dagrams and
uses of wems fourd in first aid kit
Name ¢ Diagram Use
1. Thermometer ) (e fer IO ey
/ & ooty desr perctrart
L
. v rmert Loctecero rresrcl<
LEET HEAT ' P
W. s ond L Cutting dressing materials
SO g r
.-( J v’_.
” - ”
— - 1
iv. Dispocsable stere { Jeed o o iecH
| qloves : xts OCCLY  pres e
~ L«
'y y 'Q(try-u F cwrwy Commd {
Evrerret /aur/
gy

t
| Covering minor wound

Ve A_én(’ G 2

Extract 9b.2, shows a sample of good responses from the candidate who had sufficient
information on writing the name of the devices given, drawing them and giving their
functions.

3.3.3 Question 10: Pressure

This question had two parts, namely (a) and (b). Inpart (a) the candidates were required
to (i) explain the reason of a tractor with wide tire to get stuck in the muddy place
compared to vehicle with narrow tire.
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This question was attempted by 1,943 (49.36%) candidates although 1,993 (50.64%)
did not attempt this question. The analyses of candidates’ performance are shown in
Table 3c below.

Table 3c: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES
AVERAGE
3-6
TOTAL %
143 7.36

The analysis in the above table showed that a high percentage performance of 85.59
percent is poor that leads to overall performance of 14.41 percent to be poor.

Also, 1,663 (85.59%0) have performed poorly. This is due to the lack of understanding
on the topics tested as shown in extract 10.1.
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Extract 10.1 Poor Extract

10. a L Explain briefly why a tractor with wide tire cannot easily get stuck
in the muddy place as compared to vehicle with narrow tire?

Recnst nhtmcn 1 emdu 0g swen® af
Aty 12 t—he nmmh muh Hme%-ht Is
0 bedy rlabive demciby of proplem 1o

o ChrrEeh of  coiene-

Ii. Write two (2) units of pressure.

nnnnnlg ger
facce

b. i, Mention two (2) properties of pressure in liquids.

\ _lj@_ﬂd shate -
™ J_Llpl.\.d_m}.[LUL)__

ii. The areas of the piston of a hydraulic press are 4x10™* m? and
3x10-? m? respectively. If the smaller piston is pushed down with a
force of 200N. Calculate the force required to push the larger
piston.

3x10-2 m* X 4%10°% m*
20~%m’ x40~ m°

20 % ™ x 40 ¢ m¥"

20™ ><q—o R B

= 198"

Extract 10.1 showed the candidate who did not understand the question and provided
irrelevant responses against the answers required by the question. The candidate just

copied some sentences which are meaningless.

The candidates who scored higher marks were able to give correct responses in both
parts of the questions. This shows that, the candidates had adequate knowledge on the

topic and from which parts they were derived as observed in extract 10.2.
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Extract 10.2 Good Extract

10, a. i Explain briefly why a tractor with wide tire cannot easily get stuck
in the muddy place as compared to vehicle with narmrow tire?

n
Do cayur<s A& fTracfer o e wyi cle 5 e ac '_xque
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ii, Write two (2) units of pressure.

l'ﬂl N "‘ i =
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b. i. Mention two (2) properties of pressure in liquids.
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I, The areas of the piston of a hydraulic press are 4x10"* m* and

3x107% m? respectively, If the smaller piston is pushed down with a
force of 200N. Calculate the force required to push the larger

piston.
<)
SO, oy
Fa = £, Ao
A
o = QQOONIX . CR vV s | BOLY
O:. 8nn t o  Crer ¢
i O& T X IO G
Fa - agonx 2 ou
“
F2 = acoparx 3§
o= 19,800 ~Y
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This candidate in Extract 10.2 provided the correct responses required by the question.
The candidate gave the short explanation on the concept that “wide tire produce small

pressure and narrow tire produce large pressure”.

3.3.4 Question 11: Simple machine

This question had three parts, namely (a), (b) and (c). In part (a) the candidates were
required to define the term ‘inclined plane” and ‘Pitch’. In part (b) the candidates were
required to name two devices that can operate through application of wheel and axle.
In part (c) the candidates were required to perform calculation on velocity ratio and
mechanical advantage.
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This question was selected by 1,135 (28.84%) candidates while 2801 ( 71.16%) did
not pick this question. The analyses of candidates’ performance are shown in Table 3¢
below.

Table 3d: Analysis of the candidates’ performance

PERFORMANCE ANALYSIS OF SCORES OVERAL
AVERAGE PERFOMANCE
3-6
TOTAL % TOTAL %
236 20.80 509 44.85

The analysis in the above table showed that a high performance of55.15 percent is poor
that leads to overall performance of 44.85 percent to be average.

Also, 626 (55.15) have performed poorly. This is due to the lower ability of understanding
and applying the knowledge on the topics tested as shown in extract 11.1.

Extract 11.1 Poor Extract

11. a. Define the following terms as applied in simple machine.
i Inclined plane
= and deisice which bhasg o
MEeoCe - Oone machene

i Pitch
N k\ e OB =AU =y )’1 - oCa be l':{ £y
bl uchh e d TN C e NN i

b. Name two (2) devices that can operate through application of wheel
and axle.

?LLK g o0
Cegork
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C. A force of 500N is used to raise a load of 4000N through an inclined

plane. Given that the slant height and the vertical height of the plane are
21m and 7m respectively. Calculate

i. The velocity ratio of the plane.

cuns enld
Cpore = Hemmy
al = uvsoond
Jeloadly =
<\ dosn
£ &
L. A
— Hebro
T 4sser)
e

ii. Mechanical advantage of the plane.

Ve
L st — 2 |
rf—ﬁrrﬁcsrt = T
k<’(\ L(DQ— [ Ha D)
L —~<crod — 3
R
3

—

iii. Efficiency of the plane. =

M- « toe 7.
N R
R < (57 s
2=
L K222,
=2 & &L

The Extract 11.2 shows a sample of candidate’s weak responses. The candidate failed
to answer correctly in part (a) and part (b) but in part (c) he/she changed the formula of
the item (i) to the item (ii) and that of part (ii) to part (i) but finally, came to the right

answer of item (iii). This implies that he/she had some idea about calculation of simple
machine.
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Extract 11.2 Good Extract

41, &, Dafirse the following tenrs as appilad in simple machina,

L Incined plane

Anclined place (e dhe Oreocthy Qlob
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iii. Mechanical advantage of the plane.
> 3

—olutsop

et == Lepmerd

iii. Efficiency of the plane.

Solutang .
E.Ir;{:.p},pmﬂ = A xXiook
VR
- ‘@_XIQJ/J

=32

= Kol
3

= QAC6C ¢l

The Extract 11.2 shows that the candidate had provided the correct responses as
required by the question. He /she managed to define, list the devices and apply the

correct formula for finding velocity ratio, mechanical advantages and efficiency of the
plane.
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4.0 CONCLUSION

The analysis of the candidates’ performance shows that two questions were performed
well, four questions have average performance and six questions have poor performance.

In addition, some candidates had failed to identify the requirement of the question by
providing the irrelevant responses. Another problem encountered by the candidates was
lack of skills of drawing graph. Further, some candidates provided incorrect answers
due to in appropriate formula they used.

It is expected that the feedback provided in this report will enable teachers, students
and other educational stakeholders to take appropriate measures to improve teaching
and learning of the Physics subject in Zanzibar Secondary Schools.

5.0 RECOMMENDATIONS
In order to increase performance in the future, it is recommended that;

I. Teachers must ensure that their candidates have sufficient knowledge and
understanding of entire topics before doing examinations.

2. Candidates should be given enoughexercises so as to increase their understanding
and writing skills. Thisenables the students to have long term memory on the topic
taught.

3. Candidates have to make thorough preparation for the examinations and they
have to carefully read and understand the demand of the question when doing
examination.

4. Candidates should work hard on attaining mathematical skills to improve their
learning, so that they can be able to solve problems which include calculations.

5. Monitoring on the learning and teaching process in schools by academic masters,
head of schools, Education inspectors and other education stakeholders should
be directed at identifying and re-dressing and/or eliminating the short coming
observed in this report.

6. Teachersshould use different measurement tools to assess their students during the
learning and teaching process.
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SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC
WISE IN 2023

QUESTION PERCENTAGES OF
SIN: TOPIC CANDIDATES PER | REMARK
NUMBER QUESTION

Force, M easurements, Newton’s laws of motion, Energy, Pressure,
1 Introduction to laboratory practice, Structure and properties of mat-
ter, Simple machine, Magnetism and Current electricity

2 Introduction to laboratory practice

3 Static electricity 7 40.74 Average
4 Archimedes Principle and law of floatation 2 38.05 Average
5 Motion on a straight line 9a 39.34 Average
6 Simple machine 11 44.85 Average
7 Newton’s laws of motion

Pressure, magnetism, Motion on a straight line, Light, Current elec-
8 tricity, Static electricity, Temperature, Energy, Introduction to labo-
ratory practice and Simple machine

9 Light

10 Pressure

11 M easurements

12 | Current electricity

S301dN3IddV
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APPENDIX 11

SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC WISE IN 2022

QUES- PERCENT-
TION AGES OF
SIN: TOPIC CANDI- REMARK
NUM- DATES PER
BER QUESTION
Work, Energy and Power, Static electricity, Current electricity, M easurement, Newton’s
1 laws of motion, Pressure, Light, Simple machines, Archimedes’ Principle, and law of flo-
tation, Magnetism, Motion in a straight line, Introduction to laboratory practice and Force.
Average
1 60.00
2 M easurement 9b 52.78 Poor
Simple machine 10 39.08 Poor
Simple machine 2 38.22 Average
Magnets, Archimedes’ Principles and law of floatation, Motion in a straight line, Force,
5 Sustainable Energy Sources, Structure and Properties of matter, Pressure, Static electricity,
Light and Energy.
6 Force in Equilibrium
7 Light
8 Sustainable energy sources and Archimedes’ Principle and the law of Flotation
9 Sustainable energy sources and Archimedes’ Principle and the law of Flotation
10 Temperature
11 Current electricity

12

Pressure




